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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]

/
i

s o Y —

i USRI e

o) \ ——
auw k| :

|

100 l

IMWVV\V\A |
LA MANS N
B R A W AY\P WAl VA A1 AV
ol TV A

12.5 , U v

0 25 50 75 100 125 150 175

90
— RH

60 ‘ I
. TRARN] i
o

0 25 50 75 100 125 150 175
d
|
| A — ETel |
1500 A ——  optETcl
A A\ n
~V

1250 | f’ )
ANV N\
\.\

)\
%

500

; |
250 ”W
A b —
0 2

3.0

— LAl
2.5 /
2.0 / \
1.5 // \
1.0
/»/ A\
0.5 _/ -\_\_\
0 25 50 75 100 125 150 175
d
|
A I'\ ——  optEtRate

T v N S WA ANV IWAN
[ v

0:6 I
|

0.2

0 25 50 75 100 125 150 175



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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36. 25

36. 00 -

35. 75 A

35. 50

35. 25 A

35. 00

36.

36.

35.

35.

m=525, FV0=0

—o— M_E

550 555
m=670,n FV0=0

—&— M_E

6;5 650
m=795,n FV0=0

—o— M_E

860 865
m=940,n FV0=0

795

-o— ME

5_

0_

5_

0 -

940 945 950



m=990, FV0=0

37.0

36. 5

36. 0

35.5

M_E

9é5 10b0
m=525,n FV0=0

47 -

46

45

44 -

—— MW

i

550 555
m=670,n FV0=0

47 4

46

45 ~

44

43 -

42 -

41 -

—— MW

6%5 GéO
m=795,n FV0=0

670

47 A

46 -

45

44 -

43

42 -

41 -

-— MW

i
7
i
i

795 800 805

48 A

46

44 4

42 -

40 -

38 -

36

£

-o— MW

T T
800 1000

m=565,m FV0=0

600

47 -

46 -

45 ~

44 -

43 A

—— MW

m=705,m FV0=0

47 A

46 -

45 -

44 -

43 A

42

41 A

—— MW

7%0 7%5
m=830,n FV0=0

705

46 -

45 -

44 -

43

42

41 -

-o— MW

830 835 840

T T T T T
567.5 570.0 572.5 575.0 577.

m=465, FV0=0
46 4 —o— MW
44
42
40 -
38 -
36
4é5 4%0 4%5
m=600,m FV0=0
47 - —— MW
46 -
45 -
44
43 -
660 665 6%0
m=735,m FV0=0

46

45

44

43 -

42

41 -

—o— MW

7

7AO 7&5
m=865,n FV0=0

735

46

45 -

44 -

43

42 -

41

-— MW

865 870 875

m=495, FV0=0

47 -

46 -

45 ~

44 -

43

42 -

—— MW

560 565
m=635,n FV0=0

47 -

46 -

45 -

44

43 -

42 -

—o— MW

6&0 6&5
m=765,n FV0=0

46 -

45 -

44

43 4

42 A

41 -

—o— MW

7%0 755
m=900,n FV0=0

765

46 -

45 -

44 -

43

42 -

41 -

- MW

900 905 910




m=940, FV0=0

46 -

45 ~

44 -

43

42 -

41 -

—0—

M_W

940

T
945

950

m=990, FV0=0

46 -

45 ~

44

43

42 ~

41

—0—

M_W

990

T
995

T
1000
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:05

:00

:50
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:50
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P3-2

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

07:20 283 150.0 2.583 F[ BRi%e07:20 Ba1 (GRAERSE)
08:20 283 150.0 2.583 S| {Ri%@08:20 B (KRAAERSE)
09:45 283 150. 0 2.583 F BRi%e09:45 BEh (RAERE)
11:00 283 150. 0 2.583 E| {Rige11:00 Bzh (RE{EREE)
12:05 283 150.0 2.583 =l {Rige12:05 B3 (REAERSE)
13:00 283 150. 0 2.583 E BRi&e13:00 Bz (GRAERERE)
13:50 283 150.0 2.583 5| {Ri%e13:50 B3 (RAERSE)
14:45 283 150.0 2.583 = RRiB014:45 Bz (RFEAEESE)
15:50 283 150. 0 2.583 E BRi&e15:50 Bz (GRAERE)
21t 2547.0 (97%) 1350.0 32903 %EC: 2080.0, PH: 6.0

FEREHERE STEELRF (182.0 :

BRINSEPRERL144. 0 ml.
#[EKECE (1887.0 vs 3277.0) 5

144.0), AIEERT—@E XAH5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=73 (2025-06-10)

150 Fm—————F——————F——————F-—————F-—————F——————F——————F——————F——————F——————fF——————F—= ]
VI, V0, FRV, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET - 3000
2400 9304 =
100 + |
00 1700 1969 - 2000 °
=
160 129 -
50 11860 F756 L 1000 &
Warning: lcol [FVI',| "FVO’'] missing
04 - 08
900 § W VI WE P
FRV maxM
T e e e —————————— . S| S | B G| . A A | W || | S g F—. G, S| S T ———— .| = | W e ——— - 36
-
100 - =
[ 34
50
1.0 32
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 ¢
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
300 - Bylni‘t: @75 01:46: ET=1408 Fg=1650.0 Ro=360.0 3000
|
1 i a
200 - , 2000 ~
1 E
! —
100 - : - 1000 L
| 3
b o—-l
0 pb—a J—! o 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
300 P& | ® | B | % | ® | Fs | B | B | w5 | B | Fs | B | B5 | m5 | mR | Fe | B | B5 | M5 | FR | Be | B | B | m | 200 5
1 c
ByEt @D73 19:07: ET=1448 Fg=2272. 0 Ro=nan & L;_
200 . 1 B 2000 ~N
I —_—
1 E
'—
100 - - 1000
3
e —e—e—e ;
10 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
300 #& | B | W& | RE | W | #E | %5 | W& | B | WA | RE | %5 | RR | W& | RE | & | WA | RE | P& | RR | W& | RE | M | BB | 200
1 c
ByWoFv @D75 01:46: ET=1129 Fg=1350. 0 Ro=290.0 g_
200 . 1 B 2000 ~N
] —
1 E
! —
100 - : - 1000 L
| 3
1o A 0
g B 1 2
0osl B | B | S
0.6 -
0.4 1
0.2 A
0.0
1500 1 | A
[ ] | _obs
1000 + —@— PPFD obs
500 A
07 @  Riobs
[ ) RHo_obs




m=445, FV0=0 m=495, FV0=0 m=520, FV0=0

36.01 _g ME o NE 36. 4 - o NE
i 36.0 -
35.9 36. 2 -
35.0 -
35.5 - 26.0
34.5 4
35.0 - 35. 8 -
34.0 1
33.5 - 34.5 - 35. 6 1
T T T T T T T T T T T T
400 600 800 1000 445 450 455 495 500 505 520 525 530
m=570,m FV0=0 m=610,m FV0=0 m=655,m FV0=0 m=690,m FV0=0
35. 25 A
- ME -o— ME —o— ME 25 0 —-o— ME
35. 00 - 34.0 1
35.0 -
34. 75 4 34.5 7
33.5 1
34.5 1 34. 50 34.0 1
34.0 1
34. 00 A 33.0 1
T T T T T T T T T T T T
570 575 580 610 615 620 655 660 665 690 695 700
m=730,m FV0=0 m=765,m FV0=0 m=800,m FV0=0 m=835,m FV0=0
—e— ME 36.0 1 —o— ME 36.0 17 _o— M_E —— ME
35. 5 35.5 -
35.5 - 35.9 1
35.0 - 35.0 -
35.0 - 35.0 1
34.5 1 34.5 -
34.5 -
34.5 -
34.0 -
34.0 1
730 735 740 765 770 775 800 805 810 835 840 845
m=875,m FV0=0 m=915,m FV0=0 m=965,m FV0=0 m=1010m FVO0=0
—o— ME 35 5] —@— ME 35,0 - —o— ME a4l & ME
35.5 -
34.2 1
5.0 34.5 -
35.0 - ' 34.0 1
34.0 1 33.8
34.5 34.5
33.5 - 33.6 1
34.0 33.4 -
34.0 1 33.0 1
875 880 885 915 920 925 965 970 975 1010 1015 1020



m=1040, FV0=0 m=445, FV0=0 m=495, FV0=0

—-e— ME 46 —-— MW - MW
35. 4
4 46
35. 2 49 -
44 -
40 -
35.0 +
38 1 42 1
34. 8
36 —o— W 36 -
T T T T T T T T T T T T
1040 1045 1050 400 600 800 1000 445 450 455 495 500 505
m=520,m FV0=0 m=570,m FV0=0 m=610,m FV0=0 m=655,m FV0=0
—0— MW -0 MW 47 —0— MW —0— MW
47 46 - 46 4
46
46 -
45 ~ i
44 44
45 -
44 -
44 49 - 43 - 42 +
43 42
T T T T T T T T T 40 T T T
520 525 530 570 575 580 610 615 620 655 660 665
m=690,m FV0=0 m=730,m FV0=0 m=765,m FV0=0 m=800,m FV0=0
47 47 47 - 47 A
—0— MW - MW —0— MW —0— MW
46 46 - 46 - 46
45 - 45 - 45 451
44 - 44 44 - 44 -
43 4
43 - 43 1 43 -
42 -
49 - 42 ~ 42
41 -
41 L T T T 41 | T T T 41 ] T T T T T T
690 695 700 730 735 740 765 770 775 800 805 810
m=835,m FV0=0 m=875,m FV0=0 m=915,m FV0=0 m=965,m FV0=0
46 -— MW 46 - -— MW - MW 46 - - MW
7 46
45 -
45 45 -
44 44 -
44 44 -
43 4 . 43 4
42 3
42 | 42 1
42
41 41 1
40 - 41
40 T T T T T T T T T T T T
835 840 845 875 880 885 915 920 925 965 970 975



47 -

46 -

45 -

44 -

43

42

m=1010, FVO=0

—0—

M_W

T
1010

T
1015

T
1020

m=1040, FV0=0
47 - —— MW
46
45
44 H
T T T
1040 1045 1050




hour

100

8:35

80
9:50
11:35 60
13:25 40
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P3-2

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS e

08:35 278 150.0 2.583 |Z=&| 1BRi&e08:35 Bzl (RAEREE)
09:50 278 150. 0 2.583 |Z=| {Ri&e09:50 Bz (KREEHSE)
11:35 278 150.0 2.583 | =| {Ri&e11:35 Bz (REEZEBE)
13:25 278 150.0 2.583 |/hfu| {Ri&e13:25 Bz (REEZEBE)
14:30 278 150.0 2.583 FA| {Ri%@14:30 Bz (GRAEEE)
2it]1390.0 (5%) 750.0 32 KEC: 2080.0, PH: 6.0

FEREHERE STEELRF (179.0 -

BRIASERRIERE142. 0 ml.
#EKECE (1897.0 vs 3277.0) 345

142.0), AIEERT—@E XAH5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=72 (2025-06-09)

150 Fo—————F——————F——————F-—————F——————F-—————F-—————F——————F——————F——————f——————f-————]
VI, V¥RV, ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET 2000
2500
100 + 1969
1700 562 - 2000
220 1244
50 - 60 721+ 1000
Warning: lcol [FVI',| "FVO’'] missing
0_
200 3
150 -
100 -
50 A
1.0
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 t
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
300 4 ByInit @D75 01:46: ET=999 Fg=1200.0 Ro=255.0 2000
1
200 : - 1500
1
: - 1000
100 - | =
: - 500
p——10——0— - I
30(0) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 (2)000
ez B | B | B | BB | B | ™[ MW ]| W | M E | BB | BA| W | W 5 i 5 5 5 | ™M 5
200 - ByEt @D72 19:07: ET=941 Fg=1496. 0 Ro=nan & © - 1500
® ® - 1000
100 -
- 500
30(0)_ 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 ? 23 (2)000
2o|2n|Z| BB BB BB | B 1251252522525 |0W| B (2525252525252 B 5
1
200 - ByWon: @D75 01:46: ET=721 Fg=750.0 Ro=165.0 - 1500
1
: - 1000
100 - 1
: - 500
1.0 0

s lBZB=|B= | B | B |0 | 1 52372718227 2210m| W 2215227182182 27182 % | &

0.6
0.4+

0.2~

—_—
[ ] | _obs
—@— PPFD obs

® o VPD
.

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=375, FV0=0 m=420, FV0=0 m=470, FV0=0

36. 0

—o— ME 38.01 —8— ME 38.5 1 —o— ME
35.5 - 28 4
i 37.5 -
35.0 38.3 -
34.5 -
37.0 - 38.2 -
34.0 -
65 38.1 -
33.5 - ]
38.0 -
33 - 33.0 + 04
- MNE 36.0 579
T T T T T T T T T T T T T
400 600 800 1000 375 380 385 420 425 430 470 475 480
m=585,m FV0=0 m=655,m FV0=0 m=695,m FV0=0 m=760,m FVO=0
—e— WNE —o— ME —o— NE 31.57 o ME
5 36. 75 -
36.5 -
36. 50 37.0 1
0 -
36.0 - 36. 25 - 2.5 -
5 36. 00 -
i 36.0 -
35.5 35. 75 -
0 -
35. 50 35.5 -
35.0 -
T T T T T T T T T T T T T T
585 590 595 655 660 665 695 700 705 762.5 765.0 767.5 770.0 772.5
m=835,m FV0=0 m=875,m FV0=0 m=920,m FV0=0 m=1000m FVO=0
- ME - MNE - MNE - ME
0 37.5 -
37.0 - 38.0 -
97 37.0
36.5 -
- 37.5 -
36.5 -
36.0 -
97 37.0
36.0 -
0] 35.5 -
835 840 845 875 880 885 920 925 930 1000 1005 1010
m m=375,m FV0=0 m=420,m FV0=0 m=470,m FV0=0
47
44 - - MW 46 - - MW ® M_w
0-
42 - 45 46 -
N 40
441 45
40.0 -
38 1 43
.51 44 -
36 - 42
0-
34 - 417 43
- MW
° 5 - T T T T T T T 40 T T T T T T
400 600 800 1000 375 380 385 420 425 430 470 475 480



m=585, FV0=0

46 _ + M_W
44
42 -
40 -
T T T
585 590 595
m=835,m FV0=0
—o— MW
44
42 A
40 -
38 -
T T
835 840 845

m=695, FV0=0

46

44 -

42

40 -

—0—

MW

T
655

T T
660 665

m=875,m FV0=0

46 -

45 ~

44 -

43 A

42

41

40 -

—0—

M_W

T
875

880 885

m=695, FV0=0

46

45 A

44 -

43 -

42 4

41

—0—

MW

T
695

T T
700 705

m=920,m FV0=0

46

45 -

44

43 A

42 -

41 -

—0—

M_W

T
920

925 930

m=760, FV0=0

46

45 -

44 -

43 -

42 -

41 -

—— MW

/***.

76&.5 76%.0 76;.5 776.0 77é.5
m=1000m FV0=0

46

45 ~

44 -

43 -

42 -

41 -

—o— MW

T T T
1000 1005 1010
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P3-2

BrE) | GEBAKE) | ERE(EH/R) | EREE (F/R) [ XK R

07:40 278 150. 0 2.583 E|  {Ri1ge07:40 B3h (RFE{ERLEE)
08:30 278 150.0 2.583 = {RRi8008:30 B (FRFAEEE)
09:45 278 150.0 2.583 = RRiB009:45 Bz (REAEEE)
10:45 278 150. 0 2.583 = RRi8010:45 Bz (REAEESE)
11:45 278 150.0 2.583 = {Rige11:45 B3 (RAERSE)
12:40 278 150.0 2.583 Sl {Rige12:40 B3 (REAERSE)
13:30 278 150. 0 2.583 E| {Rig@13:30 B3h (RE{ERSE)
14:20 278 150.0 2.583 E BRige14:20 Bz CGRAERESE)
15:15 278 150.0 2.583 S| {Rige15:15 B (RAERSE)
16:25 278 150. 0 2.583 E BRige16:25 Bzl (GRAERERE)
2it] 2780.0 (100%) 1500. 0 3203 %EC: 2080.0, PH: 6.0

WERRHUEME S TEAERTS (179.0 : 142.0), AIgERAF—RE XAH45
BRI\ SEBRIERE142.0 ml.
B EKECE (1927.0 vs 3237.0) 345



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=71 (2025-06-08)

R S it e T
VI, VSRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3043

T
w
o
o
o

100 12100
- 2000

160 1178 220 28(
50 1 L 1000

Warning: lcol [FVI',| "FVO’'] missing

FRV (ml d-1)

0 o v — ME }
200 — 1400

190 === ——— == W W W  37.5
. [WN]

100 -

-
2

-35.0
11
| I |

a1
o
1
||
I

-32.5

1.0 11 1

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

) I
300 4 ByInit @D75 01:46: ET=1309 Fg=1650. 0 Ro=345.0 3000

200 - 2000

+—8s—8o—8
,//l*“ﬁ!///l 4 L 1000

le ¢ @ I I 1\\
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
BE | fi5 | 5 | RE | M5 | f5 | BE | 5 | f5 | Be | A5 | RE | s | A5 | RE | A5 | A5 | RE | M5 | A5 | RE | 5 | A5 | mg [ 3000

]
ByEt @71 19:07: ET=1347 Fg=2312. 0 Ro=nan ﬂ
]
|

100 A

cumET (ml/plant)

——&
Oﬂ

300

200 - 2000

100 A - 1000

cumET (ml/plant)

- —— ——
2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
B | R | R5 | RE | BE | R | A | A% | RE | RS | Bs | RS | R | BE | RS | Bs | RE | R | BE | B | B8 |Zn | & m | % o | 9000

ByWoFv @D75 01:46: ET=1280 Fg=1500.0 Ro=299.0

l

==}
I

300

200 - 2000

100 A - 1000

cumET (ml/plant)

b S
1.0—==F=‘
i

0.8

0.6

0.4+

0.2~

—_—
[ ] | _obs
—@— PPFD obs

60

RH
[ ] RH_obs
[ ) RHo_obs

e v P

hour



40.

40.

39.

39.

41.

40.

40.

39.

39.

32 - T T T T
400 600 800 1000
m=555,n FV0=0
374+ —@— M_E
36 A
35 A
34
33 -
5%5 5é0 5é5
m=695,n FV0=0
—&— ME
5 -
0 -
5 -
0 -
665 760 765
m=815,n FV0=0
0
-&— ME
5 -
0 -
5 -
0 -

815 820 825

36.

36.

35.

35.

34.

34.

40.

39.

39.

38.

38.

37.

41,

40.

40.

39.

39.

40.

40.

39.

39.

38.

m=390, FV0=0

54 —@— ME
04
5 -
0 -
5 -
04
390 395 400
m=595,m FV0=0
0ol @& ME
5 -
04
5
04
5 -
595 600 605
m=725,m FV0=0
01 —o— ME
5
04
5
0 -
725 730 735
m=850,m FV0=0

1T —e— ME

=
i

850 855 860

36.

36.

36.

36.

36.

40.

40.

39.

39.

38.

40.

40.

39.

39.

40.

40.

39.

39.

38.

38.

m=435, FV0=0
87 —o— ME
6 -
4 -
2 -
0 -
4§5 450 455
m=630,m FV0=0
57 —o— ME
o -
5 -
0 -
5 -
eéo 655 650
m=755,m FV0=0
—o— ME
5 -
o -
5 -
0 -
755 760 765
m=885,m FV0=0
5
—o— ME
0 -
5 -
0 -
5 -
0 T T T
885 890 895

35.

34.

34.

33.

40.

40.

39.

39.

38.

41.

40.

40.

39.

39.

40.

39.

39.

38.

m=505, FV0=0

5 4

0

M_E

5%0 5%5
m=665,n FV0=0

5_

0 -

6%0 6;5
m=785,n FV0=0

5 4

0_

—o— M_E

760 755
m=920,n FV0=0

785

0

—o— M_E

920 925 930




m=935, FV0=0 m=995, FV0=0 m=390, FV0=0

46
—— ME —— MW
40.0 44
40.0 -
42
39.5 -
39.5 + 40 -
39 0 N 38 _
39.0 -
36 -
38.5 - o= ME - mw
T T T T T T T T T T T T T
955 960 965 995 1000 1005 400 600 800 1000 390 395 400
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